Sec: 6.2 | Page: 484 | Problem: 5
Find the exact value of tan(45°- 309.
Solution:

tan 45°- tan 30°
. |
1+ tan 45%tan 30°
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Sec: 6.2 | Page: 484 | Problem: 10
Find the exact value of sin&cosg- cos&sinﬂ.
12 4 12 4

Solution:
smEEcosE cos&smﬂ sm@ Eo—smﬂ
&12 43
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Sec: 6.2 | Page: 484 | Problem: 15

Find the exact value of cos%- EE
&4 35
Solution:

cos?- E}?: cosﬂcosﬂ +sinﬂsinﬂ
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Sec: 6.2 | Page: 484 | Problem: 22

Write the expression cos4x cos 2x - sin4x sin 2x in terms of single trigonometric function.
Solution:

COS 4x €OS 2X - sin 4x sin 2x =cos (4x +2x )=cos6x
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Sec: 6.2 | Page: 484 | Problem: 29
tan 3x +tan4x
|
1- tan 3x tan 4x

Write the expression in terms of single trigonometric function.

Solution:
tan 3x +tan 4x

—— = {30 (3X +4X ) = tan 7x
1- tan3x tan4x
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Sec: 6.2 | Page: 484 | Problem: 33
Given sina =3/5, a inQuadrant I, and cos =-5/13, in Quadrant Il, find
(a): sin@- ) (b): cos(a + ) (c): tan(@a - )
Solution:

. 3aisinQI F 4
sina =m b cosa = - sm a =+ -
5 25 5

isin Qll
Ccos =-% P sin =+ﬁ-cos = §=%

sina 3/5 3
tana = s = - m

-

cosa 4/5 4

sin 12/13 12
I — . — - .

cos -5/13 5

(a): sin@ - )=sinacos - cosasin

369 50 43120 15 48 63

[ |
T5% 135 5&135 65 65 65
(b): cos(@a + )=cosacos - sinasin

46950 312_ 20 36 _ 56

~B5S 135 513 65 65 65

tan =
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tana - tan
(c): tan(@ - ) = e———
1+tana tan

3 2120  15+48

_ 4 § 55 _ = _ 63
ZB0e 120 20-36 16

1+
82% ?g 20
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Sec: 6.2 | Page: 485 | Problem: 40
Given cosa =8/17, a inQuadrant IV, andsin =-24/25, in Quadrant Il find
(a): sin@- ) (b): cos(@ + ) (c): tan@@ + )
Solution:

a isinQIV
cosa =8/17 b sma--&- cos’a =- -17 :-E

isin QM 2 2 + 2

sin =-24/25 b cos ﬁ sin’ ;g i :(24 D 2:

sina -15/17 15
fana = - — - =
cosa 8/17 8

sin -24125 24

[ ]

tan = . —— =

cos -7125 7
(a): sin@ - )=sinacos - cosasin
&150& 7 o} 85e 240 105 192 297

= R ]

TE T My T1E 255 425 425 425

(b): cos(@a + )=cosacos - sinasin
8 o) 7 o} aelSoae 240 56 360 _ 416

T17E 255 S 178 255 425 425 425

(c): tan(a + ):M
1- tana tan
15 24 -105+192
- mm + | 87
—¢
1. & 156a240 1+_§85 416
S BT o 56
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Sec: 6.2 | Page: 485 | Problem: 67
Write the expression cos(g +3p) as a function than involve only cosq .
Solution:
cos(q +3p) =cosq cos3p - sing sin3p
=cosq(-1)- sing(0)
=- cosq
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Sec: 6.2 | Page: 485 | Problem: 80
i +
Verify the identity M =cotx +coty .

sinx siny

Solution:

sin(x + sin X cosx +C0S X sinz
LHS::I-J--xIZZ

sinx siny sinx siny

_ sin X cosx +cosx sinx

sinxsiny sinxsiny

COS COS X
=m= + —
sSiny SIN X

=coty +cotx =RHS
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